Aero. K



_K

2x}

ZE

-
(o]

Ho
100
o
w
T
=)
=
N

5. M| o

Aero. K




Aero. K




00
104

0lo

Aero. K

=
o
=
L—
20304
*330
*73
*403

Sl A

25
=

= A

20254
*316
*52
*368

=

2 At7t, EfO[H| O]
74

O|&

=

| |
=
20224
317
317

20214
263
263

FEIEA, =2

[=)

3
193
198

74
20204

& M7 Ol SR U S

| =

2019 4
252
50
302

= A
2



0i0

104
Ho

e

-
o
o

2. 0|0| =7 0]

Aero. K




j0i0
10
Mo

=

100

2. 0jjo{ 27| 0]

)

ol

]

joi0
104

oF

N
Ho
100

280| FOLI==

=
ol

St Airbusiit A
Mt7E A A ZE H]

BEx
s

-
o
o

_

50
o

i

St
o
H

Of| 6 27| O]
AR

S|
=

= A7
20204 1€

7|E

1804

HL8384

A320

ojn
80
OH

Ho
100

St0], 2023 12€E = gL

= A 7](2023H)

118

52

4

A320 #3 A320 #4 A320 #5 A320 #6

A320 #2

Aero. K



Cr=dF 20] =M &3

* 7

Sl =
Q AFZH(KIX) LE2|EF(NRT)

«2Q0|S0| et B THsA AL

g g g

7

E}O[H| O|(TPE)
AP 2(CTS)

2t Al 7](20234)

108

27| L}t OoKA)

128

L} 20 Of(NGO)
O L2 (MFM)

Aero. K



Aero. K




jod

=

104

* Lff: 1890t /IH — 2890tH /L4
* A 1262HH/EH — 1528HH/H

8 1F

Aero. K



K
{In

BOMN £RE AlZHE 3032 0| (153))

20194 2&

orzEl =
oLt

b
1

C

HFE=E(E)7
CHH| 100% &

ITE|
o

—
ot

=0 2 K| 7
HY & 7| = 0|

{od ——

Al ZHES HY
o 2 L}

Aero. K



(R)0| 3|22 =F=2: RWY24R/06L

u]
[

*

H o
vl
~ O
oIl 300

Ljo oKl
A
gy
Ljo ©
Hox
100 nH
z 9
<9
71100

o <0 %0
.__Al._ _._._._ (OLN
ol 0l
Wo <0 O
100 o |l

Aero. K

I

CHNKAIE)2 27 AlZHH 28

7
0

StES 7%

(@)

| -

=)

F BIANE B2
HAIOIME 280] 7t
m FAHE



ojnu =
1o T2
et LII_
b, BB
. ol [=) ~
< o I+x
SIS ME B
m.h_u M =|___E ﬂ_lo = o
OH ° o =i @___
o, = T {0}l mr
s = = KO0 0l
N LR R
_A_I = ._A_I 10 S~ K D_._._._
k2 y o Ky =<
ol 3 <F 5
= > & Iz 2
_ o Oz W ad £
| w4z 3R oE
L o = | T
10 P K 10 o <
fo- K M/_ 4 ol KN -
<M — Weoe e N
0. ¥ org D NEAL
s = ol 04 10 - O
ol S o o e o
_— [
j00 Bl <FoE & al %_ I Kr
[0 a od = T
o mn  Ngj 3l jos
3 Toarn o
I G0 m
=0 o R < K -
_A_I ~ o Bl To @ o uu.__ﬁ o
RO K- T L
o ° I_._-_I °
o [m] |
[m]

Aero. K



Aero. K




10

Bd
1+

V|

Kd

<
wrme
100

= FA

stof H3H o2 Oo|HbX| 2t

Of Al 2EAH[£ O

SALRA X[HAFTUS

X &t
(=S

* 7_|

ml

jod
oF
ofru

=

<0

P2 CHH| 10%

o O

87l *0O| 2y

I ==
()
A

—te
(@]
—
Ol (

H| X
[=14©)
=

I Y=TY=P [=PN

4

LEE

Aero. K



I

or

oS
==

]
_A._ O_
10103
U

IH] —=—

|7 e
10 Wﬁo
.{.oon
<0 ojn 5

MH 300 OF
0| oH %A

Aero. K



5. K|

Aero. K



m A A

Uiy ot
Ul o
ol 3
10 300 Mo
100 Ho
mﬁﬂ%
o_m K- &
2RO 10

ol

<l

—_

Jod

[EL

gl
<+
OH

IH

Aero. K



Aero. K




	슬라이드 1
	슬라이드 2
	슬라이드 3
	슬라이드 4
	슬라이드 5
	슬라이드 6
	슬라이드 7
	슬라이드 8
	슬라이드 9
	슬라이드 10
	슬라이드 11
	슬라이드 12
	슬라이드 13
	슬라이드 14
	슬라이드 15
	슬라이드 16
	슬라이드 17
	슬라이드 18

